CITY OF ORLANDO SEALED BID TABULATION March 10, 2016 2:00 p.m. IFB16-0055 Pavement Markings to City Streets

Vendo	r's Name			Angco	, Inc.
Vendo	r's City & State:			Casselbe	erry, FL
Item	Description	QTY	Unit	Unit Price	Total Price
1	0546-71 Rumble Strips	12	PS	\$100.00	\$1,200.00
2	0705-11-1 Delineator, Flexible Tubular	30	EA	\$62.00	\$1,860.00
3	0701-16111 Audible & Vibratory Pavement Markings, Standard- Other Surfaces, White, Solid,6"	25	NM	\$4,329.60	\$108,240.00
4	0701-16112 Audible & Vibratory Pavement Markings, Standard- Other Surfaces, White, Solid, 8"	25	NM	\$1,742.40	\$43,560.00
5	0701-16121 Audible & Vibratory Pavement Markings, Standard- Open Graded Asphalt Surfaces, White, SKIP, 6"	25	GM	\$435.60	\$10,890.00
6	0701-16211 Audible & Vibratory Pavement Markings, Standard-Other Surfaces, Yellow, Solid, 6"	25	NM	\$4,329.60	\$108,240.00
7	0701-16212 Audible & Vibratory Pavement Markings, Standard- Other Surfaces, Yellow, Solid, 8"	25	NM	\$1,742.40	\$43,560.00
8	0701-16221 Audible & Vibratory Pavement Markings, Standard- Oher Surfaces, Yellow, Skip, 6"	25	GM	\$435.60	\$10,890.00
9	0706-3 Retro-Reflective Pavement Markers	6000	EA	\$3.85	\$23,100.00
10	0710-11111 Painted Pavement, Marking, Standard, White, Solid 6"	5.00	NM	\$2,376.00	\$11,880.00
11	0710-11122 Painted Pavement, Marking, Standard, White, Solid 8"	500	LF	\$0.45	\$225.00
12	0710-11123 Painted Pavement, Markings, Standard, White, Solid 12"	5000	LF	\$1.45	\$7,250.00
13	0710-11124 Painted Pavement, Markings, Standard, White, Solid 18"	300	LF	\$2.00	\$600.00
14	0710-11125 Painted Pavement, Marking, Standard, White, Solid 24"	3000	LF	\$2.75	\$8,250.00
15	0710-11131 Painted Pavement Markings Standard, White, Skip 6" 10-30 or 3-9	0.25	GM	\$396.00	\$99.00
16	0710-11142 Painted Pavement Markings, Standard, White, Skip 8"	300	LF	\$0.30	\$90.00
17	0710-11151 Painted Pavement Markings, Standard, White, Dotted/Guideline/6-	300	LF	\$0.55	\$165.00
18	0710-11160 Painted Pavement Markings, Standard, White Message	100	EA	\$46.00	\$4,600.00
19	0710-11170 Painted Pavement Markings, Standard, White Arrows	200	EA	\$39.00	\$7,800.00
20	0710-11180 Painted Pavement Markings, Standard, White, Yield Line	150	LF	\$1.00	\$150.00
21	0710-11211 Painted Pavement Markings, Standard, Yellow, Solid 6"	0.50	NM	\$2,904.00	\$1,452.00
22	0710-11222 Painted Pavement, Markings, Standard, Yellow, Solid 8"	300	LF	\$0.30	\$90.00
23	0710-11223 Painted Pavement, Markings, Standard, Yellow, Solid 12"	100	LF	\$0.19	\$19.00
24	0710-11224 Painted Pavement, Markings, Standard, Yellow, Solid 18"	100	LF	\$3.00	\$300.00
25	0710-11225 Painted Pavement, Markings, Standard, Yellow, Solid 24"	50	LF	\$0.29	\$14.50
26	0710-11231 Painted Pavement, Markings, Standard, Yellow, Skip 6"	0.125	GM	\$396.00	\$49.50
	0710-11251 Painted Pavement, Markings, Standard, Yellow, Dotted/Guideline/6-		LF	\$0.55	\$440.00
28	0710-11290 Painted Pavement, Markings, Standard, Yellow, Island Nose	600	SF	\$1.00	\$600.00

CITY OF ORLANDO SEALED BID TABULATION March 10, 2016 2:00 p.m. IFB16-0055 Pavement Markings to City Streets

Vendo	Vendor's Name			Angco, Inc.	
Vendor's City & State:				Casselb	erry, FL
29	0710-11331 Painted Pavement, Markings, Standard, Black, Skip 6"	2.25	GM	\$726.00	\$1,633.50
30	0710-11351 Painted Pavement, Markings, Standard, Black, Dotted/Guideline/6-	200	LF	\$0.55	\$110.00
31	0710-11421 Painted, Pavement Markings, Standard, Blue, Solid 6"	500	LF	\$0.38	\$190.00
32	0710-11460 Painted, Pavement, Marking, Standard, Blue Message	20	EA	\$1.00	\$20.00
33	0710-11660 Painted Pavement, Markings, Standard, Multi Color Message	12	EA	\$50.00	\$600.00
34	0710 17a Painted Pavement Markings, Remove Existing Painted	1500	SF	\$2.15	\$3,225.00
35	0710 17b Painted Pavement Markings, Remove Existing Painted	500	SF	\$2.35	\$1,175.00
36	0711-11111 Thermoplastic Standard,	10.0	NM	\$4,118.40	\$41,184.00
37	0711-11122 Thermoplastic Standard,	200	LF	\$0.85	\$170.00
38	0711-11123 Thermoplastic, Standard,	500	LF	\$3.10	\$1,550.00
39	0711-11124 Thermoplastic, Standard,	150	LF	\$3.85	\$577.50
40	0711-11125 Thermoplastic, Standard,	1750	LF	\$5.95	\$10,412.50
41	0711-11131 Thermoplastic Standard,	10.0	GM	\$435.60	\$4,356.00
42	0711-11151 Thermoplastic, Standard, White Dotted/Guideline 6-10	200	LF	\$0.85	\$170.00
43	0711-11160 Thermoplastic, Standard, White Message	80	EA	\$155.00	\$12,400.00
44	0711-11170 Thermoplastic Standard, White Arrow	90	EA	\$75.00	\$6,750.00
45	0711-11180 Thermoplastic Standard, White, Yield Line	50	LF	\$3.00	\$150.00
46	0711-11211 Thermoplastic Standard,	5	NM	\$4,118.40	\$20,592.00
47	0711-11222 Thermoplastic Standard,	120	LF	\$0.85	\$102.00
48	0711-11223 Thermoplastic Standard,	50	LF	\$0.35	\$17.50
49	0711-11224 Thermoplastic Standard,	170	LF	\$3.85	\$654.50
50	0711-11225 Thermoplastic Standard,	20	LF	\$0.38	\$7.60
51	0711-11231 Thermoplastic Standard,	2.0	GM	\$462.00	\$924.00
52	0711-11251Thermoplastic Standard, Yellow, Dotted / Guideline/6-10 Gap	200	LF	\$0.95	\$190.00
53	0711-11421 Thermoplastic, Standard, Blue, Solid,6"	600	LF	\$0.22	\$132.00
54	0711-11460 Thermoplastic, Standard, Blue Message	24	EA	\$2.00	\$48.00
55	0711-12121 Thermoplastic, Refurbish,	18.0	NM	\$3,696.00	\$66,528.00
56	0711-12122 Thermoplastic, Refurbish,	300	LF	\$0.85	\$255.00
57	0711-12123 Thermoplastic, Refurbish,	1100	LF	\$2.50	\$2,750.00
58	0711-12124 Thermoplastic, Refurbish,	400	LF	\$3.25	\$1,300.00
59	0711-12125 Thermoplastic, Refurbish,	7050	LF	\$5.25	\$37,012.50
60	0711-12131 Thermoplastic, Refurbish,	18.0	GM	\$567.60	\$10,216.80
61	0711-12151 Thermoplastic, Refurbish, White, Dotted/Guideline 6-10 Gap	300	LF	\$0.85	\$255.00

CITY OF ORLANDO SEALED BID TABULATION March 10, 2016 2:00 p.m. IFB16-0055 Pavement Markings to City Streets

Vendo	r's Name			Angco	o, Inc.
Vendo	r's City & State:			Casselb	erry, FL
62	0711-12160 Thermoplastic, Refurbish, White Message	150	EA	\$95.00	\$14,250.00
63	0711-12170 Thermoplastic, Refurbish, White Arrows	250	EA	\$65.00	\$16,250.00
64	0711-12221 Thermoplastic, Refurbish,	100	LF	\$0.85	\$85.00
65	0711-12222 Thermoplastic, Refurbish,	300	LF	\$0.92	\$276.00
66	0711-12223 Thermoplastic, Refurbish,	200	LF	\$0.42	\$84.00
67	0711-12224 Thermoplastic, Refurbish,	450	LF	\$3.35	\$1,507.50
68	0711-12225 Thermoplastic, Refurbish,	90	LF	\$0.50	\$45.00
69	0711-12231 Thermoplastic, Refurbish,	2.5	GM	\$501.60	\$1,254.00
70	0711-12251 Thermoplastic, Refurbish, Yellow Dotted/Guideline/ 6-10 Gap	300	LF	\$0.85	\$255.00
71	0711-14125 Thermoplastic Preform. White, Solid, 24"	11000	LF	\$13.95	\$153,450.00
72	0711 17a Thermoplastic, Remove Existing Thermoplastic Pavement	15000	SF	\$1.65	\$24,750.00
73	0711 17b Thermoplastic, Remove Existing Thermoplastic Pavement Markings,	250	SF	\$2.85	\$712.50
	0713-101560 Preformed Tape, Standard, White/Black, Message	10	EA	\$150.00	\$1,500.00
75	0713-102111 Preformed Tape, High Performance, White Solid 6"	0.125	NM	\$13,728.00	\$1,716.00
76	0713-102122 Preformed Tape, High Performance, White Solid 8"	500	LF	\$3.40	\$1,700.00
77	0713-102124 Preformed Tape, High Performance, White Solid 12"	50	LF	\$6.35	\$317.50
78	0713-102125 Preformed Tape, High Performance, White Solid 18"	50	LF	\$7.95	\$397.50
79	0713-102126 Preformed Tape, High Performance, White Solid 24"	250	LF	\$10.50	\$2,625.00
80	0713-102131 Preformed Tape, High Performance, White, Skip, 6"	0.125	GM	\$3,432.00	\$429.00
81	Performance, White, Dot/Guideline/ 6-10 Gap Extension 6"	100	LF	\$2.65	\$265.00
82	0713-102211 Preformed Tape, High Performance, Yellow, Solid 6"	0.125	NM	\$13,728.00	\$1,716.00
83	0713-102222 Preformed Tape, High Performance, Yellow, Solid 8'	500	LF	\$3.50	\$1,750.00
84	0713-102225 Preformed Tape, High Performance, Yellow, Solid 18"	50	LF	\$7.95	\$397.50
85	0713-102231 Preformed Tape, High Performance, Yellow, Skip 6"	0.1250	LF	\$3.60	\$0.45
	0713-102251 Preformed Tape, High Performance, Yellow, Dot/Guide/	100	LF	\$3.60	\$360.00
<u> </u>	0713-102331 Preformed Tape, High Performance, Black, Skip 6"	0.1250	GM	\$4,752.00	\$594.00
	0713-102513 Preformed Tape, High Performance, White/Black Contrast Solid	0.1250	NM	\$38,280.00	\$4,785.00
- 00	0713-102553 Preformed Tape, High Performance, White/Black	300	LF	\$7.35	\$2,205.00
90	0713-107 Preformed Tape, Remove	250	SF	\$3.25	\$812.50
91	FDOT Index No. 603 Two-Lane, Two-Way, Work Within the Travel Way	30	ED	\$50.00	\$1,500.00
92	FDOT Index No. 604 Two-Lane, Two-Way, Work In Intersection	30	ED	\$50.00	\$1,500.00
93	FDOT Index No. 605 Two-Lane, Two-Way, Work Near Intersection	30	ED	\$50.00	\$1,500.00
94	FDOT Index No. 613 Multilane, Work Within the Travel Way - Median	30	ED	\$50.00	\$1,500.00

IFB16-0055 Pavement Markings to City Streets

Vendor's Name				Angco	o, Inc.	
Vendor's City & State:				Casselberry, FL		
95	FDOT Index No. 615 Multilane, Work in Intersection	30	ED	\$50.00	\$1,500.00	
96	FDOT Index No. 616 Multilane, Work Near Intersection - Median Or	30	ED	\$50.00	\$1,500.00	
97	FDOT Index No. 618 Multilane, Work Near Intersection - Two Lanes Closed	30	ED	\$50.00	\$1,500.00	
98	FDOT Index No. 625 Temporary Road Closure - 5 Minutes or Less	30	ED	\$50.00	\$1,500.00	
99	FDOT Index No. 660 Pedestrian Control For Closure of Sidewalks	49	ED	\$50.00	\$2,450.00	
	Vendor Total			 	Fotal on Vendors Revised Bid Form Response is only calculating F11- F100 S/B F11 to F109	
	Calculated Total				\$870,211.85	
Sumit	tal Check List			YE	S	
	ond (10% of Base Bid)			YE	_	
W9				YE		
	tion for Bid Price Form			YES		
	rs Certification Form rs Questionaire			YES		
				YES YES		
	Contract Acceptance Form Minority/Women Owened Business Enterprice Form			YES		
Veteran Business Enterprise Participation Form				NO NO		
	ment List				'ES	
	s of Certification I.M.SA. Level II Course				'ES	
	dum No.One Acknowledgement			YE	-	

March 10, 2016 2:00 p.m.
IFB16-0055 Pavement Markings to City Streets

Vendo	r's Name	Amroad	I, LLC	McShea Contracting, LLC		ing, LLC
Vendo	r's City & State:	Hollywo	od, FL	Lehigh A	cres	s, FL
Item	Description	Unit Price	Total Price	Unit Price Total	Un	it Price Total
1	0546-71 Rumble Strips	\$485.00	\$5,820.00	\$850.00	\$	10,200.00
2	0705-11-1 Delineator, Flexible Tubular	\$55.00	\$1,650.00	\$40.00	\$	1,200.00
	0701-16111 Audible & Vibratory Pavement Markings, Standard- Other Surfaces,					
	White, Solid,6"	\$5,350.00	\$133,750.00	\$5,500.00	\$	137,500.00
	0701-16112 Audible & Vibratory Pavement Markings, Standard- Other Surfaces,	Ф 7 4 40 00	Φ4 7 0 5 00 00	ФС 5 00 00	Φ.	400 500 00
	White, Solid, 8" 0701-16121 Audible & Vibratory Pavement Markings, Standard- Open Graded	\$7,140.00	\$178,500.00	\$6,500.00	Þ	162,500.00
	Asphalt Surfaces, White, SKIP, 6"	\$1,340.00	\$33,500.00	\$3,250.00	Ф	81,250.00
	0701-16211 Audible & Vibratory Pavement Markings, Standard-Other Surfaces,	\$1,340.00	φ33,300.00	φ3,230.00	φ	81,230.00
	Yellow, Solid, 6"	\$5,350.00	\$133,750.00	\$5,500.00	Ф	137,500.00
•	0701-16212 Audible & Vibratory Pavement Markings, Standard- Other Surfaces,	ψυ,υυ	φ133,730.00	ψ5,500.00	Ψ	137,300.00
	Yellow, Solid, 8"	\$7,140.00	\$178,500.00	\$6,500.00	\$	162,500.00
-	0701-16221 Audible & Vibratory Pavement Markings, Standard- Oher Surfaces,	ψ.,σ.σ	ψσ,σσσ.σσ	ψο,σσσ.σσ	<u> </u>	
8	Yellow, Skip, 6"	\$1,380.00	\$34,500.00	\$2,500.00	\$	62,500.00
9	0706-3 Retro-Reflective Pavement Markers	\$2.75	\$16,500.00	\$3.50	\$	21,000.00
10	0710-11111 Painted Pavement, Marking, Standard, White, Solid 6"	\$710.00	\$3,550.00	\$1,250.00	\$	6,250.00
11	0710-11122 Painted Pavement, Marking, Standard, White, Solid 8"	\$0.18	\$90.00	\$0.40	\$	200.00
12	0710-11123 Painted Pavement, Markings, Standard, White, Solid 12"	\$0.22	\$1,100.00	\$1.50	\$	7,500.00
13	0710-11124 Painted Pavement, Markings, Standard, White, Solid 18"	\$0.38	\$114.00	\$1.75	\$	525.00
14	0710-11125 Painted Pavement, Marking, Standard, White, Solid 24"	\$0.51	\$1,530.00	\$2.00	\$	6,000.00
15	0710-11131 Painted Pavement Markings Standard, White, Skip 6" 10-30 or 3-9	\$345.00	\$86.25	\$650.00	\$	162.50
16	0710-11142 Painted Pavement Markings, Standard, White, Skip 8"	\$0.10	\$30.00	\$0.40		120.00
17	0710-11151 Painted Pavement Markings, Standard, White, Dotted/Guideline/6-	\$0.09	\$27.00	\$0.25		75.00
18	0710-11160 Painted Pavement Markings, Standard, White Message	\$25.00	\$2,500.00		_	5,000.00
19	0710-11170 Painted Pavement Markings, Standard, White Arrows	\$20.00	\$4,000.00			8,000.00
20	0710-11180 Painted Pavement Markings, Standard, White, Yield Line	\$1.50	\$225.00	\$5.00		750.00
21	0710-11211 Painted Pavement Markings, Standard, Yellow, Solid 6"	\$710.00	\$355.00			625.00
22	0710-11222 Painted Pavement, Markings, Standard, Yellow, Solid 8"	\$0.18	\$54.00	\$0.40		120.00
	0710-11223 Painted Pavement, Markings, Standard, Yellow, Solid 12"	\$0.41	\$41.00			150.00
_	0710-11224 Painted Pavement, Markings, Standard, Yellow, Solid 18"	\$0.52	\$52.00	\$1.75		175.00
	0710-11225 Painted Pavement, Markings, Standard, Yellow, Solid 24"	\$0.71	\$35.50			100.00
	0710-11231 Painted Pavement, Markings, Standard, Yellow, Skip 6"	\$345.00	\$43.13	\$650.00		81.25
	0710-11251 Painted Pavement, Markings, Standard, Yellow, Dotted/Guideline/6-	\$0.21	\$168.00			200.00
	0710-11290 Painted Pavement, Markings, Standard, Yellow, Island Nose	\$1.50	\$900.00	\$2.00		1,200.00
20	Page 5	Ψ1.30	ψουυ.υυ	Ψ2.00	Ψ	1,200.00

IFB16-0055 Pavement Markings to City Streets
--

Vendo	or's Name	Amroa	d, LLC	McShea Contracting, LLC			
	or's City & State:	Hollywo		Lehigh A	cres	, FL	
	0710-11331 Painted Pavement, Markings, Standard, Black, Skip 6"	\$0.31	\$0.70	_		1,462.50	
	0710-11351 Painted Pavement, Markings, Standard, Black, Dotted/Guideline/6-	\$0.11	\$22.00	\$0.25	-	50.00	
	0710-11421 Painted, Pavement Markings, Standard, Blue, Solid 6"	\$2.00	\$1,000.00	\$1.00		500.00	
	0710-11460 Painted, Pavement, Marking, Standard, Blue Message	\$250.00	\$5,000.00	\$50.00		1,000.00	
	0710-11660 Painted Pavement, Markings, Standard, Multi Color Message	\$350.00	\$4,200.00			6,000.00	
34	0710 17a Painted Pavement Markings, Remove Existing Painted	\$1.25	\$1,875.00	\$1.00	\$	1,500.00	
35	0710 17b Painted Pavement Markings, Remove Existing Painted	\$1.50	\$750.00	\$1.50	\$	750.00	
36	0711-11111 Thermoplastic Standard,	\$3,255.00	\$32,550.00	\$4,000.00	\$	40,000.00	
37	0711-11122 Thermoplastic Standard,	\$0.95	\$190.00	\$1.25	\$	250.00	
38	0711-11123 Thermoplastic, Standard,	\$1.45	\$725.00	\$3.00	\$	1,500.00	
39	0711-11124 Thermoplastic, Standard,	\$1.81	\$271.50	\$4.00	\$	600.00	
40	0711-11125 Thermoplastic, Standard,	\$2.09	\$3,657.50	\$5.00	\$	8,750.00	
41	0711-11131 Thermoplastic Standard,	\$815.00	\$8,150.00	\$2,500.00	\$	25,000.00	
42	0711-11151 Thermoplastic, Standard, White Dotted/Guideline 6-10	\$0.57	\$114.00	\$1.00	\$	200.00	
	0711-11160 Thermoplastic, Standard, White Message	\$45.00	\$3,600.00	\$125.00	\$	10,000.00	
	0711-11170 Thermoplastic Standard, White Arrow	\$30.00	\$2,700.00	\$85.00	\$	7,650.00	
45	0711-11180 Thermoplastic Standard, White, Yield Line	\$8.50	\$425.00	\$10.00	\$	500.00	
	0711-11211 Thermoplastic Standard,	\$3,255.00	\$16,275.00	\$4,000.00	\$	20,000.00	
	0711-11222 Thermoplastic Standard,	\$0.80	\$96.00	\$1.25	\$	150.00	
	0711-11223 Thermoplastic Standard,	\$1.15	\$57.50	\$3.00	\$	150.00	
	0711-11224 Thermoplastic Standard,	\$1.81	\$307.70	\$4.00	\$	680.00	
	0711-11225 Thermoplastic Standard,	\$2.51	\$50.20	\$5.00	\$	100.00	
	0711-11231 Thermoplastic Standard,	\$815.00	\$1,630.00	\$2,500.00	\$	5,000.00	
	0711-11251Thermoplastic Standard, Yellow, Dotted / Guideline/6-10 Gap	\$0.57	\$114.00	\$1.00		200.00	
	0711-11421 Thermoplastic, Standard, Blue, Solid,6"	\$1.50	\$900.00			3,000.00	
	0711-11460 Thermoplastic, Standard, Blue Message	\$185.00	\$4,440.00			3,600.00	
	0711-12121 Thermoplastic, Refurbish,	\$2,315.00	\$41,670.00			54,000.00	
	0711-12122 Thermoplastic, Refurbish,	\$0.58	\$174.00			300.00	
	0711-12123 Thermoplastic, Refurbish,	\$0.88	\$968.00			2,750.00	
	0711-12124 Thermoplastic, Refurbish,	\$1.32	\$528.00			1,400.00	
	0711-12125 Thermoplastic, Refurbish,	\$1.75	\$12,337.50			31,725.00	
	0711-12131 Thermoplastic, Refurbish,	\$580.00	\$10,440.00			31,500.00	
61	0711-12151 Thermoplastic, Refurbish, White, Dotted/Guideline 6-10 Gap	\$0.44	\$132.00	\$1.00	\$	300.00	

Vendor's Name		Amroad	I, LLC	McShea Contracting, LLC		
Vendo	r's City & State:	Hollywood, FL		Lehigh A	cres, FL	
62	0711-12160 Thermoplastic, Refurbish, White Message	\$110.00	\$16,500.00	\$110.00	\$ 16,500.00	
63	0711-12170 Thermoplastic, Refurbish, White Arrows	\$45.00	\$11,250.00	\$75.00	\$ 18,750.00	
64	0711-12221 Thermoplastic, Refurbish,	\$0.44	\$44.00	\$0.60	\$ 60.00	
65	0711-12222 Thermoplastic, Refurbish,	\$0.58	\$174.00	\$1.00	\$ 300.00	
66	0711-12223 Thermoplastic, Refurbish,	\$0.88	\$176.00	\$2.50	\$ 500.00	
67	0711-12224 Thermoplastic, Refurbish,	\$1.32	\$594.00	\$3.50	\$ 1,575.00	
68	0711-12225 Thermoplastic, Refurbish,	\$1.75	\$157.50	\$4.50	\$ 405.00	
69	0711-12231 Thermoplastic, Refurbish,	\$580.00	\$1,450.00	\$1,750.00	\$ 4,375.00	
70	0711-12251 Thermoplastic, Refurbish, Yellow Dotted/Guideline/ 6-10 Gap	\$0.44	\$132.00	\$1.00	\$ 300.00	
71	0711-14125 Thermoplastic Preform. White, Solid, 24"	\$15.50	\$170,500.00	\$17.00	\$ 187,000.00	
72	0711 17a Thermoplastic, Remove Existing Thermoplastic Pavement	\$1.25	\$18,750.00	\$1.15	\$ 17,250.00	
73	0711 17b Thermoplastic, Remove Existing Thermoplastic Pavement Markings,	\$1.50	\$375.00	\$1.50	\$ 375.00	
74	0713-101560 Preformed Tape, Standard, White/Black, Message	\$550.00	\$5,500.00	\$750.00	\$ 7,500.00	
75	0713-102111 Preformed Tape, High Performance, White Solid 6"	\$21,750.00	\$2,718.75	\$24,000.00	\$ 3,000.00	
76	0713-102122 Preformed Tape, High Performance, White Solid 8"	\$5.55	\$2,775.00	\$4.50	\$ 2,250.00	
77	0713-102124 Preformed Tape, High Performance, White Solid 12"	\$12.75	\$637.50	\$6.00	\$ 300.00	
78	0713-102125 Preformed Tape, High Performance, White Solid 18"	\$12.50	\$625.00	\$9.00	\$ 450.00	
79	0713-102126 Preformed Tape, High Performance, White Solid 24"	\$16.50	\$4,125.00	\$12.00	\$ 3,000.00	
80	0713-102131 Preformed Tape, High Performance, White, Skip, 6"	\$5,450.00	\$681.25	\$8,000.00	\$ 1,000.00	
81	Performance, White, Dot/Guideline/ 6-10 Gap Extension 6"	\$1.05	\$105.00	\$4.00	\$ 400.00	
82	0713-102211 Preformed Tape, High Performance, Yellow, Solid 6"	\$21,750.00	\$2,718.75	\$24,000.00	\$ 3,000.00	
83	0713-102222 Preformed Tape, High Performance, Yellow, Solid 8'	\$5.55	\$2,775.00	\$4.50	\$ 2,250.00	
84	0713-102225 Preformed Tape, High Performance, Yellow, Solid 18"	\$12.50	\$625.00	\$9.00	\$ 450.00	
85	0713-102231 Preformed Tape, High Performance, Yellow, Skip 6"	\$5,450.00	\$681.25	\$8,000.00	\$ 1,000.00	
86	0713-102251 Preformed Tape, High Performance, Yellow, Dot/Guide/	\$1.05	\$105.00	\$4.00	\$ 400.00	
87	0713-102331 Preformed Tape, High Performance, Black, Skip 6"	\$5,450.00	\$681.25	\$8,000.00	\$ 1,000.00	
88	0713-102513 Preformed Tape, High Performance, White/Black Contrast Solid	\$35,990.00	\$4,498.75	\$30,000.00	\$ 3,750.00	
•	0713-102553 Preformed Tape, High Performance, White/Black	\$1.71	\$513.00	\$6.00	\$ 1,800.00	
90	0713-107 Preformed Tape, Remove	\$1.55	\$387.50	\$2.00		
91	FDOT Index No. 603 Two-Lane, Two-Way, Work Within the Travel Way	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00	
92	FDOT Index No. 604 Two-Lane, Two-Way, Work In Intersection	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00	
93	FDOT Index No. 605 Two-Lane, Two-Way, Work Near Intersection	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00	
94	FDOT Index No. 613 Multilane, Work Within the Travel Way - Median	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00	

Purchasing Agent: Silvia coste

CITY OF ORLANDO SEALED BID TABULATION March 10, 2016 2:00 p.m.

IFB16-0055 Pavement Markings to City Streets

Vendor's Name		Amroad	i, LLC	McShea Contracting, LLC			
Vendo	Vendor's City & State:		Hollywood, FL		Lehigh Acres, FL		
95	FDOT Index No. 615 Multilane, Work in Intersection	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00		
96	FDOT Index No. 616 Multilane, Work Near Intersection - Median Or	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00		
97	FDOT Index No. 618 Multilane, Work Near Intersection - Two Lanes Closed	\$650.00	\$19,500.00	\$2,000.00	\$ 60,000.00		
98	FDOT Index No. 625 Temporary Road Closure - 5 Minutes or Less	\$850.00	\$25,500.00	\$2,000.00	\$ 60,000.00		
99	FDOT Index No. 660 Pedestrian Control For Closure of Sidewalks	\$650.00	\$31,850.00	\$2,000.00	\$ 98,000.00		
	Vendor Total		Total on Vendors Bid Form Response is only calculating F11- F100 S/B F11 to F109	\$ 1,353,391.25	Total on Vendors Bid Form Response is only calculating F11- F100 S/B F11 to F109		
	Calculated Total		\$1,330,826.97		\$ 1,931,391.25		
	al Check List	YE	_		S		
	nd (10% of Base Bid)	YE	_	YE	_		
W9		YE		YE	_		
	on for Bid Price Form	YE		YE			
	s Certification Form s Questionaire	YE		YE YE			
	ct Acceptance Form	YES YES		YE	_		
Minority/Women Owened Business Enterprice Form		NO		YES			
-	n Business Enterprise Participation Form	NO		YE	_		
	nent List	YES		YES			
	of Certification I.M.SA. Level II Course	II Course NO		N	0		
Adeen	dum No.One Acknowledgement	YE	S	YE	S		